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Quiz 2: Fourier Transform -1 point for no number

Name: Key ver.1l
Compute the inverse Fourier transform of the following signal. (Write your answer in the simplest form)
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Final Answer:

A ("5 cos 20t
T (Z) COoS
Coefficient 2 points

A 1 point
Argument of A 2 points
Shifting cos 20t 2 points

Match the time responses x(t) with the corresponding frequency responses |X]|.
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Notice that 4 & 5 consist of sum of two sinusoidal T T e T

Signals because the spectrum is made of 4 deltas. 4 DN A ASA A

The difference between 4 & 5 is that in 4 the sinusoidal ) Lt

signal with higher frequency is stronger this is why it is o .

mapped to B and 5 is mapped to C 5 .1 L

Grading : 5 correct =»3 points , 3 correct =» 2 points, 2 correct =»1 point, 1=»0.5,0>0

Good Luck Dr. Ali Mugaibel



Short Table of Fourier Transiorms
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Fourier Transform Operations
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Good Luck

Dr. Ali Muqaibel



